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Question 1

Question Type: DragDrop

Refer to the exhibit.

er 1o the Bxhibit An engineer must provision a VXLAN deployment The OSPF has already been configured as the underlay protocol
All P rconfigurations will be performed using the template method The deployment must meet these requirements

The local update source for leaf switches must be loopback 1
The router ID must be the local loopback IP address
The external BGP connections must use a template name

Drag and drop the configuration snippets from the bottom to complete the configuration

age not d or type unknown

Answer:

odhd or type unknown

5ahel or type Unknown
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A network engineer must configure a Fibre Channel interface on the Cisco MDS 9000 Series Switch The configuration must meet these
requirements

* The interface must be disabled when the bit errors threshold Is exceeded
* Buffer-to-buffer credits must be set to the maximum value
* The interface must have full bandwidth allocated for its port group

Which command set configures a Fibre Channel interface that meets these requirements?

A.

age No| d or type unknown
B.

age not d or type unknown
C.

age not d or type unknown




age not d or type unknown

Options:

A) Option A
B) Option B
C) Option C

Answer:

A

Question 3

Question Type: MultipleChoice

Refer to the exhibit.

age No d or type unknown




Refer to the exhibit. An engineer needs to implement streaming telemetry on a cisco MDS 9000 series switch. The requirement is for the
show command data to be collected every 30 seconds and sent to receivers. Which command must be added to the configuration meet
this requirement?

Options:

A) Sensor-grp 200 sample-period 30000
B) Snsr-grp 200 sample-interval 30

C) Sensor-grp 200 sample-period 30

D) Snsr-grp 200 sample-interval 30000

Answer:

D

Explanation:

snsr-grp &lt;id&gt; sample-interval &lt;interval&gt; Currently, sensor group ID supports only numeric ID values. Specify the streaming
sample interval value; the value must be in milliseconds. The minimum streaming sample interval that is supported is 30000
milliseconds. https://www.cisco.com/c/en/us/td/docs/switches/datacenter/mds9000/sw/8 x/config/san_analytics/cisco-mds9000-san-
analytics-telemetry-streaming-config-guide-8x/configuring-san-telemetry-streaming.html


https://www.cisco.com/c/en/us/td/docs/switches/datacenter/mds9000/sw/8_x/config/san_analytics/cisco-mds9000-san-analytics-telemetry-streaming-config-guide-8x/configuring-san-telemetry-streaming.html
https://www.cisco.com/c/en/us/td/docs/switches/datacenter/mds9000/sw/8_x/config/san_analytics/cisco-mds9000-san-analytics-telemetry-streaming-config-guide-8x/configuring-san-telemetry-streaming.html
https://www.cisco.com/c/en/us/td/docs/switches/datacenter/mds9000/sw/8_x/config/san_analytics/cisco-mds9000-san-analytics-telemetry-streaming-config-guide-8x/configuring-san-telemetry-streaming.html
https://www.cisco.com/c/en/us/td/docs/switches/datacenter/mds9000/sw/8_x/config/san_analytics/cisco-mds9000-san-analytics-telemetry-streaming-config-guide-8x/configuring-san-telemetry-streaming.html

Question 4

Question Type: MultipleChoice

A company is running a pair of cisco Nexus 7706 series switches as part of a data center segment. All network engineers have restricted
read-Write access to the core switches. A network engineer must a new FCoE VLAN to allow traffic from services toward FCoE storage.
Which set of actions must be taken to meet these requirements?

Options:

A) 1. Create a user defined role and add the required privileges.
2. Assign a role to a user.

B) 1. Add the required privilege to the VDC-admin role.
B) Commit the changes to the active user database.

C) 1. Modify a network-operator role and add the required privileges.
2. Assign a VDC-operator role to a user.

D) 1. Assign the network-admin role to a user.
2. Commit the role to the switch to the active user database

Answer:

B, B



Question 5

Question Type: MultipleChoice

Refer to the exhibit.

age not d or type unknown

Refer to the exhibit. What is the result of executing this python code?

Options:

A) It backs up Cisco switches to Cisco Prime infrastructure.
B) It sends the switch configuration to Cisco TAC.
C) It sends a Cisco device backup to a remote destination.

D) It schedules a backup on a Cisco switch using EEM.

Answer:

C



Question 6

Question Type: DragDrop

Drag and drop the characteristics from the left onto the correct storage systems on the right.

Nage Not Toul d or type unknown

/ N\

@w& or type unknown

Nestion 7"

—

Quéen\—i-ype: DragDrop

20€ NO d or type unknown

Dr nd drop the NAS features from the left onto the NAS descriptions on the right. Not all features are used

or type unknown
or Beun nown

4hd or type unknown

ortvype unknown
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20€ NO d or type unknown
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Question 8

Question Type: MultipleChoice

AN engineer is asked to modify an overridden policy by changing the number of FCNS database entries to 1500 and then generable a
massage. What configuration will accomplish this task?

age not d or type unknown

Options:

A) Option A
B) Option B
C) Option C
D) Option D

Answer:

C



Explanation:

The following example modifies an overridden policy by changing the number of FCNS database entries to
1500. It also generates both the configured and the default syslog messages of the default system policy
event manager applet fcns_policy override _ fcns_entries_max_per_switch

event fcns entries max-per-switch 1500 action 1.0 syslog priority warnings msg FCNS DB entries have reached the EEM Iimit.

Question 9

Question Type: DragDrop

the ExAIBit An engineer must monitor the Ethernet port and the corresponding VLAN traffic for the hyper4 device The SW3
rg AGiscaNexus 7000 Series Switch Drag and drop the code snippets from the right into the boxes in the configuration to meet
equirements.

] -_Anaimmm d or type unknown
pdage notXhd or type unknown

\ 4 d or type unknown
pthd or type unknown

ihd or type unknown

d or type unknown




Question 10

Question Type: DragDrop

An engineer mus! configure HSRP protocol on two Cisco Nexus 9000 Series Switches running a virtual port channel. In addition, the
HSRP implementation must meet these requirements:

It must allow more than 500 groups.
switch 1 must act as the primary switch.
Both switches must use a user-defined hardware address.

Drag and drop the commands from the right to complete a configuration of the HSRP on the left. The commands are used more than
once. Not all commands are used.

age Nnot d or type unknown

Answer:

age not d or type unknown

il d or type unknown

lon 11

N

Qiiegmsriaaey MultipleChoice

AN
% nﬁ%ﬁd or type unknown
n

d or type unknown




Refer to the exhibit.

age not d or type unknown

Refer to the exhibit. A network engineer is implementing a configuration checkpoint on a Cisco Nexus 9000 Series Switch. The
configuration must skip any existing vPC configuration errors and must complete if there are any configuration errors. The engineer
finished the vPC domain configuration part. Which command completes the checkpoint implementation?

Options:

A) stop-at-first-failure
B) atomic
C) best-effort

D) verbose

Answer:

C
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